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BACHELOR OF SCIENCE (HONOURS) IN
BIOCHEMISTRY (BSCBCH)

Term-End Examination

December, 2022

BBCCT-101 : MOLECULES OF LIFE

Time : 3 hours Maximum Marks : 70

Note : Attempt any seven questions.

1. (a) Fill in the blanks : 5x1=5

1) is the Indian-American
biochemist, who received the Nobel
Prize for the discovery of genetic code.

(i1) Molecules with both polar and
non-polar groups are called

(iii) Two types of functional groups
present in monosaccharides are

and

(iv) In DNA, guanine always pairs with

(v) vitamin is also known as

cyanocobalamin.
BBCCT-101 1 P.T.O.



(b)

2. Write the differences between the following :

i)
(ii)

(b)

4. (a)

(b)

Match the following : 5x1=5

(i) Tryptophan (a) Fructose

(i) Ketohexose (b) Vitamin D,

(iii) Muramic acid (¢) Uracil

(iv) Calciferol d W

(v) RNA (e) Bacterial Cell Wall

Starch and Glycogen
DNA and RNA

Explain the terms Reducing and
Non-reducing sugars using suitable

examples.

Draw the structure of chitin and write its

biological importance.
What are soaps ? Explain their cleaning
action.

Describe the structure of cholesterol with a

neatly labelled diagram.
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5.

Draw the structures of any four of the
following : 4x2 é =10
(i) Lactose

(i1) Alanine

(iii) Micelle

(iv) o-helix

(v) Vitamin B,

Explain any four of the following : 4x2—=10

(i) Waxes

(ii) Plant steroids
(i1i) Vitamin E
(iv) Nucleosides
(v) Cyclic AMP

(a) Explain denaturation and renaturation of
DNA. 5
(b) What are the major biological functions of

lipids ? 5

(a) Draw a neatly labelled diagram of DNA
double helix. Explain Watson — Crick model
of DNA. 2+3=5

(b) Write any four unique properties of water. 5
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9. (a) Explain Griffith’s experimental evidence
which proved DNA as genetic material,
using a neatly labelled diagram. 10
OR

(b) Write a detailed note on blood group

antigens. 10
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(@) fafataa =1 fiem i 5x1=5

2. foafafaa & = st faifu - 2x5=10

() T 3 TATZRISH

(i) €.TA.U. I AN.TA.T.

3. (%) 3fud TN gRI STU=mt 3R U= Sk

IIeG] <l AT T | 5

(@) hrEfea i GCEAT sH13T 3N g@eh! S TE
fafaw | 5

4. (%) GG A Fd 8 ? 3T THE I STy hit
ST HITT | 5

(@) =5 Amifhd o gR1 i i ST
=1 auiT HIfT | 5
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. Freafefed § & fedl o i Gt ST 4x2§=zo
(i) o™

(i) U=

(i) foee

(iv) a-pusdl

v) Taerfm Eﬁl

. T=fafea 4 @ el e i saren il 4><2§_10
() @™

(i) 9TEY TTS

(i) faerfim §

(iv) faaaEss

(v) <hId TUAML

(%) ST fopfdad 3R GH:Ihaq I =me
HIT | 5

(@) fafrs & yg@ Sfaes e w1 8 2 5

(%) DT fgpueet & @ TWifhd M@
ATST | I1eHd 3R fsheh o E.w4.T. Aied HI
T KT | 2+3=5

(@) e & fehedl = Afgea 7ot =i fafae | 5
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9. (%) ffey &% wifies wew Se@ gfy &€ 6

HET TH JHARE qgd B, Hl s
qHIfehd 3TRE ¢RI SATEAT shifau | 10

AT

(@) T Tgg TeeHl W U foega fewoft fafew 1 10
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